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X product === productimfo === productData
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X theZork => zork
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X NameString => Name
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X textVariable => text
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X NameString => Name
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X IShapeFactorylmp => ShapeFactorylmp &= CShapeFactory
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Layerl : PAGE render
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Layer2 : detail render
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function checkPassword(String name , String password
1if(1isUser(name) && 1sPassword(password
// do something
else
Session.initialize() // &Z!!! 0| ¢oHE
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let point new Point
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getX
getY

setPolar(r, theta
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class Vehicle

getFuelTankCapacityGallons
getGallonsOfGasoline // S
Better

class Vehicle

getPercentFuelRemaining



ANt A=2ZE2| ALE

ARPES HE AKX MHH|S 225 HH|X|E

= o =

linterface Shape
class Square
topLeft: Point;
side: number
constructor(left: Point, side: number
this.toplLeft = left;
this.side = side

area number:

interface Point
X: number;
y: number;

class Square implements Shape
topLeft: Point;
side: number
constructor(left: Point, side: number
this.toplLeft = left;
this.side = side

class Rectangle
class Circle

class Geomety
PI: number = 3.141592;
area(shape: Circle | Rectangle | Square
if (shape instanceof Circle
return shape.radious * shape.radious;
else if(shape instanceof Rectangle

area number

return this.side * this.side;

class Circle implements Shape
radius: number;
PI: number = 3.141592;

constructor(left: number
this.number = number
Jé-lil. xl%l:Ef_l. 7_|-||i.” I|§:>I:O| |_—__| L_|.%7|.f) == b;I area number

return this.number * this.number * this.PI
o X2 MEZ &8 F71017| 4§ &bt MER A2 XE F716H = 02

. AN M22 RELXE F7I517(7 2T MEL S48 £7t5te{H DE S2A0 Tt Z7t5{0F 5 ,

o



C{O]E2] &)
LIS 2| Zix{|of| Hf= &
24 Co| BiME

7 MAMSE ZHH|2| A E
= 02 AN HME

—h

-
2.
3.
4.

O—h

RS BHk5LT E BHE +

—

4|7t EE

St
ol

Tu[ru
1

o

getActiveStatus().goDestination()
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getActiveStatus().goDestination()

class (C

private A a

private int getA

public void f

getArea

let smalla =

smalla.set

b.1invert

a.call /

Test test =

test.print
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onst mergeItems = (items: Room[])

items. length 7 [...state.items, ..
onst nextItems = mergeltems(items);

items. length ? state.items.concat(items) :

.

.items] :

[..

[..

.state.items];

.state.items];




